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Name the unbalanced force which 51911@'. down a moving bicycle when we stop pedalling it
F ﬁl:-e"-"'!":‘l ot

¥ UEEEE AN A T e e s T e e g

What s the acceleration of a body moving with uniform velocity 7
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How can we obfain coloured component from blue/black ink ? Describe the Prooess.
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Menticn the different components of Blood in the toliowing diagram
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The wuight of a man on the surface of earth is 588 N. Find his mass, taking ¢ =98 ms = 155,

man wore taken to the surface of mocm, his weight would be 98 N What 15 his mass on Bz
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@ Sodium chloride contains two clements, but it is still a pure substance Caiv
DEAS0.

Q_} How would you confirm that a colourisss liguaicd givmhjﬂni pure water 7
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Compare the following in three states of matier.
(a)  Particle moton
(b)  Force of attraction between particles

()  Space between particles
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What do you undersiand by solid carbon diexdde? Why is it called so?

f= efam sl sl & =E T =i w1
AGHIGIH, TR g] 34 s T (|

Discuss the shape of the following cell organelies :

R

lysosomes, mitochondria and golg apparatus,

_1_,1/' (a) A Tom T wita | wmw W W fafk

(B)  WFI‘A" B, "C AYI'DY = SEEIiAT)

(a) Name the tissue in the following figure ;
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(b)  Identify parts‘A’, "B, "C" and ‘I,
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Explain, why it is difficull for a ﬁrﬂnantuhuldahﬂﬁ:EjEEﬁnglargeammtﬂfwaiEratahjgh
velodty.
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4 stone weighs 490 N on 3 planet whose acceleration due o Eravity  is
one -half of the earth’s, value. Caleulate. r

[i} hass of the stone

L} : Weight of the stone on earth,
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Define uniform speed and uniform acceleration,

The train ‘A’ travelled 3 distance of 120 km in 3 hours whereas anather train B travelled a distance of
180 km in 4 hours. Which train is travelling faster 7
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(b) &9 T forrem Ay

(c) &% 7 ww § emm o

Name the physical quantities denoted by -
(@) the slope of the distance-time graph
() the arca under velocity-time graph

(c) the slope of velocity-time graph
A
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Calculate the force reguired to impart to a car a velocity of 30 m/s in 10 s starting from rest. The mass

of the car Is 1500 kg
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On reading about the farmers committing suicide in the newspaper, Radhika. thought of
doing something for them, She took the help of an NGO working in those areas and contacted
govermnment agencies and found out the reason behind the poor vield. It was a plant diseasa,
The problem was taken care of and the farmers also got support m form of Joan and disease
resistant seeds,

{ih How plant diseases can be prevented 7

(i)  Inwhatways insect pests attack the plants ?

{iii)  Why Radhika wanted to help formers ?

[
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"Nowadays mcorporating desirable characters in plants or amimals to improve the quality has
become essential”. Discuss three processes by which this can be facilitated

jﬁ/ﬁ_ﬂ?ﬂm’hﬂﬂ:ﬁﬁﬁm = ol 4 o o s ® wem S
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(iv) T e 5% T

Dhefme the term - solulion, Idmﬁf‘}r the solute and solvent B s

{i} Tincture of 1odine

(i)  Pelluted air
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(iif) soda water
{iv)  Dilute Iydrochloric acid

o
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(c) T WHiE W UH 1T F T W EH 9§ 5 59 A SR B E e
el = ¢
f@}l Define latent heat of Fusion,

(k) Why is ice at 273K more effective in cooling than water at same  temperature ?
Fxplain.

{c)  Explain why when a solid is healed, ils lemperature remains same during melting.
Where does the heat go 7
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Answer the fn[lmt.'ing :

"{? Draw a labelled diagram of smooth muoscle.
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@J} Differentiate between xylem and phloem.

(it}  Mention the constituents of blood
l"ﬁj'_j' Name the epithelial tissne which has hair-like projecton on cuter surface of cells,
¥
fl;{'] Name a tissue that stores fat in the body.

e
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g Al}-:uj].rweighsﬂﬂ]s:g:mearth.Givmﬂtat&ncmassnfear&lis&xlﬂ“kg.ﬂzmdhmiﬁ
64100 m, G=67 1070 Nm? kg 2 What will be :

(ix} The force of attraction between the body and the earth
(b)  Acceleration produced in body
(c) Acceleration produced in earth

{if}  Where is the acceleration due to gravity minimurmn and maximum on the surface of the
earth 7
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With the help of an example explain the term balanced force. Consider two forces F; and F, acting on
an object as shown in the figure.

. i
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40N 0N
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{a) What is the magnitude of the net force acting on the object ?

{b] What is the direction of the nat force acting on the object ?

(v} If the mass of the object is 10 kg, find the acceleration produced in the object.

-9 TN H fam fafew & v 29wl ¥ am fofan) so meiw bEam o s

fafa= TafirsT sgmeor 25 aaEnE )
Define weeds. Name two common weeds, Mustrate different methods of controlling weeds
in a crop feld.
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Zubeda while performing food test used iodine solution with a dropper to test the presence of
starch and then she dipped the same dropper in cone, hydrochloric acd for testing
adulteration in dal. Her teacher instructed her either to wash the dropper or use separate
dropper. This is because

{a)  dropper might break in acidic solution

(by it might contaminate hydrochloric acid

(€}  iodine solution might tum the acd blue black

(d)  there were many droppers available

}Aj T B 1 TE 5 ¥ 9 J 39 o sEE e F e AT g i ise w2 s dsm e 1
Y 1 F7Y Fwm
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A student added few drops of Iodine solution to a sample of milk, bloe-black colour
appearad. What will you interpret from this observation ?

[a) milk consists of metani] yellow,

(b) milk has proteiss,
{<) mulk is adulterated with starch.

%" milk contains fats,

J}fﬂﬂﬁnmm A’ HISTT YT TR weEt % fEm & TR mEm A | E e sa o
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In the diagrams given below ‘A’ iz a misture of iron and sulphur and “B is the product
oblained by strongly heating the mixture ‘A’ and crushing it to a fine powder. What is the
worrect conclusion of abservations shown by following diagrams 7
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(a)  Constituent particles retain their properties in a mixture.
(b)  Constituent particles Fe and S retain their proper©es in a compound.
_[:;J/ Properties of constituent particles change in & mixture.

{d)  Properfies of constituent particles change in a compound formation.

/?gﬁ%#i{ﬂ?ﬁ4gmmaﬁqmmm # Fvsl W i e A i E
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(b) T Ay

(c) o T TEEtE 2

(d) == 9% w2 feg =1 w4 |

In a china dish, 7 g iron filings and 4 g sulphur powder are mixed properly. Suggesta method
to separate the individual constitnents from its mixture.

(a)  Physical method
B Chibial mekod
() Both Physical and Chemical method

(d) Components cannot be separated
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(a)

The correct melhod s -
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(f:i:l Mixed Powder  of  bariom The o

chlocide and sodigm sulphate changes to yellow
(i) | Mixed solubons of barium | Thick
chloride and sodinm sulphate tormed
(ifi) | Added  solution of Barium | Solution becomes Turbid
chioride 15 sodium  sulphate
powder
V) [ Added ~soluion of pami hange is nhserved

Noc
chloride to  sodjg sulphate ]
solution
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(vi = fre 3 o difag
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(v)  wBH T F 5o 42 ol
Which one of the followin
onion peel 7
[ {®  takeoul the onion peel

{b)
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i)
(i)
(iv)
v)
(1)

keep the peel on the slide

add a drop of glycerine on it
add a few drops of safranin stain
cover it with a cover slip

take out the onjon peel

g seis is the correct sequence for preparing a I!mpurarymn_untnfan



{ti}  keep the peel in water ina petridish
(iil) addafew drops of safranin stain and transfer to the shide

(iv)  adda drop of glycerine on it
(v} coverit with a cover slip

fc) (1) take out the onjon peel
(i)  keepiton a slide and add safranin stain
(i) transfer it to water in 3 pertridish
(v} remove water and add glycerine
(v}  cover it with a cover slip

D ) take out the anjon pes|
(8} coverit with a cover slip
(i) add waker in a petridish to clean jt
(iv) adda drop of glycerine
(v} add afew drops of safranin stain

e o

AT Fifyra mmﬁmmnnﬁﬂﬁ'ﬁ'wmmt

(0 e (b) e
) Ty (d) Eme
AAes

(a)  cilia (b) - flagelia
(<) tentacles {d)  dendrites
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A mixture contains jodine, ammonium chloride and sand. Only iodine and ammoniam
chioride sublimate. Only iodine dissolves in carbon tetra chloride. How will you separate
the three compaonents 7 Sequence of steps will be ; '

{2} Sublimation, addition of CCl.
{b) Addition of CCly, filtration, sublimation.
(e} Sublimation, addition of H20, filiration.

(d) ewvaporation, distillation, crystallization.

& 79 5 et S HoE W T g e ¥ aw weE T8 2H Wt -0 T wmm 1
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@ Ei=F=F
() FrFrE
(€ Fi<R<F
(d) Fa<F>F

A student applied force on a wooden Block placed on a hodzontal surface. He gradually
increased the force on the block 4l it just starts sliding gently on the surface. He then
mcasured the force as Fr. The same process was repeated with the same set of apparatus by
his two classmates, but they applied force in some other directions o slide the block and



recorded the applied force as F and Fy. On analysing these forces it was found that -
(8 Fi=R=F

b} Fi>F:>F

i€l Fi<k<h

(d) Fr<FR>R

34 mﬁﬂﬁmmﬁmﬁ#ﬁ?ﬁm%mfaﬂwmmﬁe ﬁ.m:#rémga%a&qﬁﬂqqz
T e = 7

You gre given aqueous solutions of sodium chioride and chalk powder How would vou distingaish
between the twi without tasting ? =

3 mmﬁmmﬁﬂﬁmﬁmmmﬂmﬁﬁﬂmﬁﬂﬂfﬂaﬁz
it o B aﬂaﬁﬁmmfﬂ;ﬂamﬁmﬁmhmma#ﬁm B
w4 8 pEaat £
While doing an experinient to determine the boiling point of water, a stadent heated water i

a beaker and observed that when water starts boiling, the temperature remains constant. State
reason. Where does the heat energy go ?

)/5;1%?5###34M$tﬁum§am#'fuﬁ$WWI ﬂhﬁ';ﬁfﬂﬁ?ﬂfmmﬁg 2
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o

35 of raising were placed in distilled water for 24 hours. The mass of saaked raisins wis found
‘0 be- 7z, Caliulate the prereentage of water absorbed by raisins, ‘Write one precaution that
needs 1o be talien in this experiment.
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